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When a vehicle is on the launch pad, or an inertial
accelerometer is being tested in a fixture, the response of an
accelerometer to gravity, which is the vector sum of
gravitational attraction and centrifugal forces, is not
inconsistent with the previous statement that inertial
accelerometer will not measure gravitational accelerations.
Since the accelerometer actually measures in a reference
frame which has an acceleration equal to the local
gravitational vector, the accelerometer must measure the
restraining forces which prevent the accelerometer from
falling and which accelerate it in the frame in which it
measures. These restraining forces, which are given by the
launch pad or the test fixture, are in every way similar to the

thrust, lift, and drag forces which occur in flight.
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